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s+ NE=3= Z 4t 0 0 15,800,000 15,800,000
S 0 0 4,200,000 4,200,000
Ol &F 0 0 50,000,000 50,000,000
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OlE= HEE0IE3 Z 4t 0 4,866,855 0 4,866,855
s 0 1,333,145 0 1,333,145
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0 57,000,000 57,000,000
gp=oigsi== 0 48,910,728 48,910,728
0 8,089,272 8,089,272
6,200,000 57,000,000 63,200,000
= 4,866,855 48,910,728 53,777,583
1,333, 145 8,089,272 9,422,417
6,200,000 57,000,000 63,200,000
& 4,866,855 48,910,728 53,777,583
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200,000 0 200,000
zael JIEHOI 2 0 K4 20,606 0 20,606
179,394 0 179,394
1,600,000 0 1,600,000
JIErE 42l 10,450 0 10,450
1,589,550 0 1,589,550
1,800,000 0 1,800,000
aael = 31,056 0 31,056
1,768,944 0 1,768,944
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0 1,800,000 0 1,800,000
0 31,056 0 31,056
0 1,768,944 0 1,768,944
0 8,000,000 127,000,000 135,000,000
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3/3




